1 =06 Adding and Subtracting Rational Expressions

&New Vocabulary
 |least common multiple (LCM)

* least common denominator (LCD)

« Add and subtract rational expressions with
like denominators.

* Add and subtract rational expressions with
unlike denominators.




& KeyConcept Add or Subtract Rational Expressions with Like Denominators

Let a, b, and ¢ be polynomials with ¢ # 0.

£+£_8+b a_»b_a-b
c c c c c c
\
|| Example 1 ﬂ
. 51 15
Fnd S5+ 543
5n 15 _ 51415 ; "
=3 -+ T e The common denominator is n + 3.
- a8 Factor th 1
=——— actor the numerator.
1
5(n+3y
- Divide by the common factor, n + 3.
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Check Your Understanding = Step-by-Step Solutions begin on page R13.

Examples 1-3 Find each sum or difference. -
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% KeyConcept Add or Subtract Rational Expressions with Like Denominators

Let a, b, and ¢ be polynomials with ¢ # 0.
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Check Your Understanding = Step-by-Step Solutions begin on page R13.
Examples 1-3 Find each sum or difference. 3. 9"5’
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- o or F— | Subtract the numerators and simplify. a
Check Your Understanding = Step-by-Step Solutions begin on page R13.
Examples 1-3 Find each sum or difference. 3. g16rr
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Example 4
Find the LCM of each pair of polynomials.

a. 6x and 4x® ("“35;,\3

ETX Find the prime factors of each expression.

6x=2.3.x 4x3=2¢2ex0xx @

Eﬁﬂ Use each prime factor, 2, 3, and x, the greatest number of times it I
appears in either of the factorizations.

6x=2:3-x 4x3=2.2.xexx CN—*‘,’WX e L e S
LCM =22+3+x+xxor 12x3 CX—\'"?-') C)C—-(YU"_)) (X \3(?“*‘2;)
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b. #2 + 51 + 4 and (n + 1)?

n2+5n+4=mn+1)(n+4) Factor each expression.
m+1)2=mn+1Dn+1)

(n + 1) is a factor twice in the second expression. (n + 4) is a factor once.
LCM=n+1)n+1)n+4)or(n+ 1)2(n + 4)

Example 4 Find the LCM of each pair of polynomials.
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Find each sum or difference.
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Find each sum or difference.
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Practice and Problem Solving Extra Practice Is on page R11.

Examples 1-3 Find each sum or difference.
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Example 4 Find the LCM of each pair of polynomials.

27. X3y, x22 x%p?
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